P 66 A HOIDER M =5 4% P — —
EWEE] BR[| B A baox B
(&f 4 AEEANFAEEH)
(& 5 AREEANFAEEM)
(& 6 AREEANFAEEM)
FRRE 66 ERHOIDERAE &SR IR e m R FA ha—=
14E 2 4 34 44
! = H ; > -
oA omonr (B0 z n AR R N Lol | ow o
& i & | W& | R | R|E EIN EIN bR
g5 o HFE 2 2 2
= | 3 k|l 2 2 2
- amo B FEl 4 3 3
X FEl 4 3 3
EH & £ B 4 PAR
wo# BROgE 4 PAR 0-3
o R A 2 2 2
#oB PR g8 3 Y 2a 02
MO o B A 2 2 2
B A& s 8 % 3 2b 0-2
. IS snBR %[ 3 Ye2c 0-2
e N 2 2 2
P1Y Mmoo e 2 2
¥ G I 3 3 3
%% % ¥l % n| 4 2 2 4 |~ ammicnme
% S N 3 3
# B ARl 2 | 2 2
Tl ole 7 = wl 2 2 e
B £ oW OBE 2 2 2 |J HELE
H o K ORE[ 2 Ye2c 0-2 @
. 1% H| 7~8] 2 2 2 o2 8
P ) 2 1 1 2 1~ 2 4ER S BIRE
ORIl 2 )2 -
£ ofE 1| 2 |2 p S PR
! I{f 2 |2
S [ FE|HEE vy 1|3 2 2 2 6 |1~2mrnEiEE
BeFEalach-vav | 4 Y3 0-3
xR E K OB 2 2 2
B OWE | 2 2 2
*E BN — v (1-2) (1-2) (12 (1-2) 0~6 |k 6 ¥l % T H HER
By YR R 2~4 2 2
%;ﬁ; ¥ | 7l 2~8 2 2b 24
ﬁ%g % W o B 2~6 ¥3 0-3
Fan| FE R M F 25| 2~4 Yc2a 0-2
& F e E 18 13| 5 6 9 3 2 7 6 3
BHFL - B H O BATEGH 18~20 18~20 18~20 18~20 72~178
womepEgom| HIRAZE | 3~6 1 1 1 1 4
R o— A — AIEH) 3 1 1 1 1 4

Sk FL AR % E BRE MENTFRERERE. () ITHBEEREAR
YHIE A7 =v P a—2F A ba—2d@moRH, OHNZ 3 ~ 4 FERAESGROFH
(R—=y o 7| FA T =20 T a—2HOFKERERE THLIN T A ba—ADEELHRIZL>TSNTE S,




RS 66 | AR FHOTIDER: M gy 25 224
| 06 R HIRERR
EREH PR | SEE A =2 e
(mf 4 FEAFAEM)
PR 66 SR HOIDER AR &2 SE IR AR EEE AT =T a—=
14¢ 24 34 447
gl oo (B el 2|z G2 am|wm =
W o | m o | B | om | o | B | o |
f& BN f& BN f& BN N & r BN W
Ao EGE 2 2 2
= BB 3 k| 2 2 2
LU I 3 3
o [H OGR4 3 3
E & £ Bl 4 (&3 0. 3
o BEogE 4 ¥¢3 03
e oE B Al 2 2 2
HooE OB gE| 3 (¥¢2a) 0+ (2)
BRI B o A 2 2 2
H A& s #3283 2 2
it o5 R gl 3 (¥r2¢) 0-(2)
g NG 3 2 2 5
# BHE - BB 2 2 2
ﬁ ¥ F I 3 3 3
% B | S | 4 4 4
+ B % Al 2 3 3
§ Bl & ARIAEE| 2 2 2
B | ﬂﬂ: ¥R O 2 2 2 Sh5h
. £ OB 2 2 2 RBLEE
E Hio% kO 2 (¥r20) 0- (2
" 7~8| 2 2 2+02 2 8 « (10) |=fEssiclassmmic s
ek f (©2) 10y |= N
£ i 2 1 1 2 1~ 2 RSy EIBE
EoR I 2 12T e e
= fixE R Il 2 |2 2 |omprs 1RER
= b1 Il 2 |24 N
E &:%:\:J:Hayl 3 2 2 2 6 1~ 2 Wy RIRE
YoFE ach-vay | 4 G%3)[ 0+ (3)
¥ OREFE BEOE OB 2 2
o N W Il 2 2
ME RN — Sy s 2 2 (1-92) 4(~86) {‘L/iﬂ%M'f!‘klwziﬁi'Mi
oy YR XL 2~4 2
H_EEL:— ﬁ'ﬁ% % %ﬂ 2~8 2 2
wim W oW o #| 2~6 %3 0-3
Hgﬁ T3 | T 38 il &g 2~6 (2) 0+ (2) |xmamzkmsrmcx 2
'yl FEEO|IR M T E| 2~4 (¥r2a) 0+ (2)
% K N B 22 2 11| 12| 6 5] 3 [@ | @] & | 6
BHE - BB o BALEG 24 23 24 0(~11) 71(~82)
wamEtony| HIEEAE | 3~6 1 1 1 (1) 3. (4)
A — A — A5 H 3 1 1 1 (1) 3. (4)

sk FIN SRR E R

MEMIARGERERH

WHIE A 7= a—2F A ha—2&LE@EORHE,

ZEROLEIL, BIRBIED [R—y w7 ] % 1THIR 2 HfL,

( )ITHBEBIRE A
OHNE 3 ~ 4 FRAEATFROFH
2AEIR 2 AL AN 5, MFRITEBERET 5,

AT =07 a—=2AD4ERET, TA Fa—2A0O@EREENDL BRI TX 2,




RS 66 | AR HOIDER i & S5 2k )
—— ‘ el g Y Lo BHEWRR
TEREH] R | FEE A V=P
(mf0 5 FEAFAEM)
(BF 6 AFEREEASEAEM)
B 66 X HOIDERAE  m&aik R R AR HE AR AT =T a—=
14 2 4F 34E 4 5
gon| moa [T e elelelel ezl G| e owm &
WO g | e | @ | o | B | ® | R | & | B e | B |
& PO | R | R R R | g | R R
Bl o FH B 2 2 2
é FEOX fb| 2 2 2
= i P FEl 4 3 3
XF RE| 4 3 3
EH i R H| 4 (%3)] 0+ (3)
FLi N/ ] [ Y3 0-3
H OB R & 2 2 2
HoBER OB % 3 2d 0-2
MRS B o A 2 2 2
H A s 8 %% 3 2e 2
% T SsLpR gE] 3 (¥r2c) 0-(2)
- N +
SN Ei“ * 2 2 2
g3 Bl - & W 2 2 2
iz ¥ ¥ 1| 3 3 3
Eid PR —
i 5 F Im{ 4 4 4
+ o % Al 2 3 3
§z EESONGERH 2 5
B | B b % | 2 2 2 Eh S
. R/ B ] B 2 2 BB BEE
E o gl 2 (¥2¢) 0+ (2)
&l 7~8 2 2 2+2 2 8+ (10) |1 TIE4ERI AR
%@Wﬁw B (2) (10) | et EaFRIzaH
R [ 2 1 1 2 1~ 2 SE R EIEE
LR S § . B, B
EE i S Il 2 — 2 |othyn 1A
=@ 1| 2 R
ﬂ\Eagﬁﬁﬁﬂ%HVI 3 2 2 2 6 1~ 2Ry EIBE
YeEEalazr-yay | 4 (#%3)] 0+ (3)
F  E|FE O OB 2 2
% W W’ I| 2 2
R PR = 2 2 (1-2) 4(~6) |=fEmTi L ~2ER i
i £V x % L it 2~4
ﬂﬁ%ﬂ% Pcﬁ% ?% %E 2~8 2e
ﬂii % W om B 2~6 Y3 0-3
Hg% T3 (T ¥EHim A 2~6 (2) 0+ (2) |*mmzrrmmc &
| FhEEO|IR M F | 2~4 2d 0-2
& Y EE 22 2 11| 12| 6 11| 4 3|1 @] @ @] ©®
KHFE - BHH 0BG 24 23 24 0(~9) 71(~80)
wamaEEosn| Mk ABFH | 3~6 1 1 1 (D) 3+ (4)
A — AL — A JEE 3 1 1 1 (D 3+ (4)

* EINR AR e R

NI PR ER B
WENE A7 =T a—AF A ba—x@moR A,
=Eflo%AIE

C )IZEBERFA

OHNE 3 ~ 4 FERARFOFH
BIRBIHO [R— w7 & THFIR 2 HAL, 28R 2 BT 2SR

AT =07 A=A AFERET, FTA Fa—20RREAENL HBIRTE 5,

Do MERITHHEIRE T 5,




ERsH EnEnt (B 6 FEXE)

(RIEFAZLER)
FRES66 EREHOIDEEIRSEF R (E R HIERIE)
F ® EER N
25
B # B B ey 146 24 3% 44 H
EOHm OB 4 2 2
Z = I/ 3 (2) B - 15 & DREIRIAME
iB 8(4)
B R x Al 2 2 2
& u Al 2 (2) SERBIRNME
®oOo$B= Al 2 2
WEESERE X £ Al 2 2 6
i 2 Al 2 2
B KR # = 2 2
70N = 2(2)
B’ A ®OE 2 (2) R & DRIRHE
5 ¥ [ 3 3
5 F|8 ¥ ol 4 2 2 10
5 ¥ A 2 3
BMZEEANBEFE 2 2
m B OE B 2 (2) SEFRERME
i & 6(2)
it % = B 2 2
* W B OB 2 2
7N B|7~8 2 2 2 2 8
REKEB
=R ®l 2 1 1 2
=z SEK 2
= * Ho2 (2) EESIEST I
= it | 3= it If 2 (2) 2 SEINS51H
=z & 1| 2| @ S
13125-930REE 1 3 2 2
4t 3 8
R G IR I 2 2 2
EX FElR E B B 2 2 2
= Hwtt = & B w2 2 2
*x B BXN—-—I v IERE (2) (2) (2) (2) (8) FRETERE
ExXAE BE2~6 2 2
5] e P 5[ 2~8 2 2 2 6
Bm #$®& N E|2~8 2 3 5
BB IRERITDIFE 1 1 1 3
IR—LIL—ITEE 1 1 1 1 4
BETHEAER (BIREAE) 20(2) 20(2) 20(2) 20(2) | 80(8)




ERsH BERTFR (B 6 FEXEE]

(R3IFEAFELEER)
FRES66 SREAOCIDERIESEFF R (TERHIZRE)
¥ O BT
S
A ® # B A 14 25 3% 44 B
E OB & 4 2 2
B 8
"R K X Al 2 2 2
K o= A 2 2
MmEMESR & = Al 2 2) 42) |aEmERME
it it Al 2 2
"R AR T = 2 2
n B 2(2)
B A BB 2 (2) AFRFEIRME
5 ¥ I 3 3
E4 = 2 Il 4 2 2 10
5 ¥ Al 2 3
BEZEEABEE 2 2
i Rl 4
Y B OE W 2 2
S B|7~8 2 2 2 2 8
RERKE
=R & 2 1 1 2
= ES Il 2 (2)
i BEI, =M. ;&I
=4 i 1| 2 2 =
= * () D55 1 REME
2 bl Il 2 (2)
13129-%3yEEI| 3 2 2
2+ B 4(2)
W E XK B I 2 2) AFREIRME
2R ElZkR E B "B 2 2 2
& wIE | O B F 2 [EIRFMNTENE 2 AL TRE
*x B B(XAR— v UERE (2) (2) (2) (2) (8) FRESERIE
T % & i & B 2~4 3 3
ES Bl 4~12 3 3 6
i 4~12 2 2 2 6
B Ik B B OB 2~6 2 2
T ¥ B W x| 2~6 3 3
% #W I 1Fl 2~8 2 2
e W % 5t 2~6 2 2
) 5 | 2~4 2 2
B s =B WM 2~9 2 2
HENIRIRTRDRFR SRRETATY 3B IC TRE
TR—IL—I5EED 1 1 1 1 4
BETHEAIER GRIREAZD) 20(2) 20(2) 20(2) 20(2) 80(8)




